Mendel’s Law of Heredity


Gregor Mendel

· Gregor Mendel was an Austrian monk who is the mid-nineteenth century began to study genetics.

· _______________ – branch of biology that studies heredity.

· _______________ - is the passing of characteristics from parents to offspring. 

· Characteristics that are inherited are called ___________.
Examples of human traits are…

· Eye color

· Hair color

· Height

· Weight 

Basically everything that makes us, us!!!

·                           —are different forms of a gene or trait; you get one copy from mom, one copy from dad



ex. So if the trait is hair color, alleles could be brown or blonde.



If the trait is plant height the alleles could be tall or short

What did he do?

· Mendel used pea plants to see how traits are passed on from generation to the next.

· He took pollen from pea plant and transferred to another.

· This is called a _____________________________.

Mendel bred tall pea plants with short plants

What do you think he got?

· The offspring in the 1st generation were all tall

· The offspring in the second generation, tall and short, were 75% tall  and 25% short

· The short trait disappeared in the 1st generation and reappeared in the 2nd generation

Mendel concluded that some traits are expressed more often than others.

 -  ______________________ trait– the observed trait, the tallness of a pea plant. 

 -  ______________________ trait– the trait that seems to disappear, the shortness of a pea plant.

Mendel’s Law of ___________________
· Mendel concluded in his law of segregation that every individual has two alleles of each gene. ( two forms of the same trait) 

· One from mom and one from dad

· When gametes are produced, each gamete receives one of the two alleles.

When looking at crosses, _________________ are designated using letters.

· The same letter is used for each trait.

· Dominant Trait = Capital letter

· Recessive Trait = lowercase letter

· The dominant allele is always written first.
Some examples would be:  

· The _______________ for plant height could be written 

T = tall (dominant)


t = short (recessive)

· In Mendel’s first cross…he crossed tall plants (TT) with short plants (tt) 

· The alleles for hair color could be written


B= brown (dominant)


b= blonde (recessive)

Examples!!

Which one is dominant (circle)?

Straight Hair   S


Curly Hair       s  

Which one is recessive (circle)?

Tall Plants    T


Short Plants   t   

Phenotypes and Genotypes

· _____________________ - The way an organism looks or behaves 

· _____________________ - An organism’s allele (gene) combination
· Example: 


The phenotype of a tall plant is tall, it’s genotype can be TT or Tt.


The phenotype of someone with light colored hair is blond, the genotype is bb.

Homozygous and Heterozygous

· ______________________ – when two alleles for a trait are the same.

  

(both capital or both lowercase)




TT = has both alleles for tallness   




tt =  had both alleles for shortness

· ______________________ – when two alleles for a trait are different. 


(one capital letter, one lowercase)


        Tt =  has an allele for tallness (T) and an allele for shortness (t)

Practice

If T = tall and t = short

What’s the phenotype?

TT – ___________________

Tt  -  ___________________

tt -  ___________________

What’s the genotype?

Heterozygous tall ________

Homozygous Tall ________

Homozygous short  ________
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